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1. Find the transfer function, G(s) = X,(s) / F(s), for the system
shown below (25%)

fv = 1 N-s/m
SO ———— = 1kg - My=1lkg
Sv,=1N-s/m | s ; | fl /v,=1Ns/im
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2. For a unity feedback system with transfer function G(s) shown below,

do the following: (25%)

K

)= G

(a) Find the range of K for stability. (10%)
(b) Find the value of K for marginal stability. (5%)
(¢) Find the frequency of oscillation when the system is marginally

stable. (10%)
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a. WIRHA I FAE oL £ 48 £ 3% ¥ (steady state error)#) cascade compensators.
b. WL 3 WL &Y & R B (transient response)#y cascade compensators.
c. WIRAFMMEAL P L passive network F 3,45 cascade compensators
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